Warm Up 213

Solve the following for x:
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What did your graph look like for

80

. C

Problem 1.1 B? |
Mine was

SUrPYISIng)]
\mmrj Zc

\-int valueok
Sy when X:D

20 40 60 80 100 120
Number of T-Shirts Sold

bOv- EE 0c shbsivhnk .
00D 5(0) T [0c¢ O it
LoD = (0c ¥tk
L (0, bD)

0-C



Fundraiser Sales
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3. Use the graph to find three other ordered pairs that meet t‘he h 4
profit goal. W< Need U\V% @n’\\?

4. Suppose the number of T-shirts sold was on the vertical axis and the
number of caps sold was on the horizontal axis. Would the solutions

change? Explain.
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Classwork
1.1C1-4,and 1.1D

(® For each equation

« find five solution pairs (x, y), including some with negative values.

« plot the solutions on a coordinate grid and draw the graph showing all

possible solutions.

1. x+y=10 2. x—2y=-4
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(® Make a conjecture about the shape of the graph for any equation in the
form Ax + By = C, where A, B, and C are fixed numbers. Explain why your

conjectureis tueN__ | v a1 Eguation
X+ [ Xyt
Ax+By: L AX1 By = C
pel Dol CeID Al B2 O



Page 14, #'s 5-8

Find three pairs of values (x, y) that sausfy each equation Wotthose

(I-Ilnt'Whatisylfx O?Whatlsxlfy 0?)

S. 6=3x—2y 6. 10=x+2y

7. 2x+y=6 8. —3x+4y=-4



Homework

Page 13, # 1

1. For a fundraiser, students sell calendars
and posters.

a. What equation shows how the income
I for the fundraiser depends on the
number of calendars ¢ and the number
of posters p that are sold?

b. What is the income if students sell
25 calendars and 18 posters? (IS

==
c. Whatis the income if students sell Calendar: $3 | ,
12 calendars and 15 posters?

d. What is the income if students sell
20 calendars and 12 posters?

e. Find three combinations of calendar
sales and poster sales that will give an
income of exactly $100.

f. Each answer in part (e) can be written as
an ordered pair (¢, p). Plot the ordered pairs on a coordinate grid.

g. Use your graph to estimate three other (¢, p) pairs that would
meet the $100 goal.



